B y=ax® DX, 1

B y=ax® O 2

& A % - KA
ORDEHORERD X,
D B y=ax® T. z=2 DL X y=8 TH 5,
8=ax2?
4a=8

a=2 y=2x"

® B y=ax®? T, z=-3 D& & y=-27 TH 5,

27 =ax(-3)
9a =-27
a=-3 y=-32
@ yldaxd 2FIZHHIL, x=4 DL X y=16 TH 5,
16=ax4?
16a =16
a=1 y=x°
@DylZxD 2FIZHHIL, x=6 DEE y=18 TH 5,
18=ax6?
36a =18
a:% y:%xz
®
z 1 2 3 4 g=axl®
a=3
Y 3 12 27 48 y=322
®
z 1 2 3 4 “I=axI?
a=-1
y -1 -4 -9 -16 y=-x°

H>

£ M O H-KE
OXRDEBDOAERD &,
@ B y=ax? T. x=2 DL & y=20 TH 5.
20=ax2?
4a =20
a=>5 y=5x
@ B y=ax? T. x=3 DL X y=18 TH 5.
18=ax3?
9a =18
a=2 y=2x°
@uidaD2FIZHHIL, x=4 D&E y=8 ThH 5,
8=ax4?
16a =8
a:% y:%xz
@DylZxD2FEIZHHIL, x=-5 DEE y=-50 TH5,
50 =ax (-5
25a=-50
a=-2 y=-2x
®
z 1 2 3 4 4=axl’
a=4
v 4 16 36 64 y=4dx
®
z 1 2 3 4 ~2=axI’
a=-2
Y -2 -8 -18 -32 y=-2x°
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B y=ax? DX 3

B# y=ax O 4

4 el % - K&
OXRDEAB DA ERKD X,
O M y=ax’® T. =2 DL & y=12 TH 5,
12=ax2?
4a=12
a=3 y=3x
@ B y=ax® T. 2=-3 D& &E y=45 Th 5,
45=ax(-3)?
9a =45
a=5 y=5x
@uiZxD2FIZHFIL, =5 DEE y=-75 ThH 5,
-75=ax5°
25a =-75
a=-3 y=-3x?
@D yldxD2FIZHHFIL, =6 DEX y=12 TH 5,
12=ax6
36a =12
a=<% yzéxz
®
x 1 9 3 4 2=axI’
a=2
] 2 3 18 32 y=2x
®
x 1 9 3 4 ~S=axI’
a=-3
y -3 | -12 | 27 | -48 Y= 32

H>

4 el % - K&
OXRDEAB DA ERKD X,
O B y=ax® T. x=2 DL & y=-28 Th 5,
28 =ax2?
4a =-28
a=-7 y=-7x°
@ B y=ax® T. x=3 D& & y=36 ThH 5,
36 =ax3?
9a =36
a=4 y=4x
@uixD2FIZHFIL, 2=—6 DEE y=72 ThH 5,
72 =ax (-6)*
36a =72
a=2 y=2x°
@D yldaD2FIZLHHIL, x=5 DEE y=15 TH 5,
15=ax5°
25a =15
a:% y:%xz
®
x 1 9 3 4 S=axI’
a=5
y 5 20 45 80 y=5x2
®
x 1 9 3 4 —d=axI’
a=-4
y -4 -16 -36 -64 y=—4x?
< k<5 H H>



